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FEALTLEUHNTA] 28 =3 0.0234 0.0201 0.0435
7 12631 0021 12841

o Ol A= AS 0|l Al =
FEALTAFAHARFH]CA =3 12709 0.0201 1201
7 0.9466 0.0012 0.9678

o 2l = ASG{O|Cl KAl - (=
FEIULSLLAHARFH] C/Ae =3 0.9483 0.0201 0.9684
7 0.0265 0.0292 0.0557

o QUAZSASO|C A=Al - =
FEIAAZTAHOAYA[FA] C/C-P2e =57 0.028 0.0184 0.0464
7 16632 0.0211 1.6843

O 0| QU A AS O[T A=Al =
FEBLTLYAHR[FH]C/CA =3 T671 0.0202 16912
n 77 0.9599 0.0218 0.9817

o 2l = ASG{O|Cl KAl =
REIULS LI AARFHLC/S =3 09671 0.0203 0.9874
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7. EXFRHAHOH O LY 2

DjofA e U 3|HE Bot 22 357| R TE 0] EE S D7 U 22 327 S0l chsl BEIL @ FAZY HIEE ol & 5 JAFLICL HojE|TE0| 2 B2 WujHAr+=
(0.1%L{2l) ‘i‘ SHUHM(MEA] 0.25%) LW = M| EXXt7t £ESHA| £l= WEQ| H[E0| SIHELICH

» DjofFAlRo 8 3|HME (CHl:H2r R, %)
QEAYASAHOIUAFA) 22
o= o= mofEEE »

B = = | =] SEHEH [ CISHL

184 10 4,370 | 5 221 | 8.76
F) oY 287|173 Bl=3 ATl %S T Y 2877 5 BRU FAO WA R LiE HE
> =2 327| FA joje|HE 0| (E1:9%)
REYASAHIUA[FL] 28

2019-01-13 ~ 2019-04-12 | 2019-04-13 ~ 2019-07-12 | 2019-07-13 ~ 2019-10-12 |

[
[ 133 2138 | 221 |
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